B2

How much is the shirt?
Answer:

What is the price of the shoes?
Answer:

How many pairs of socks do you have?
Answer:

How much does the dress cost?
Answer:

What is the price of the jeans?
Answer:

How many T-shirts are there?
Answer:

How much do the earrings cost?
Answer:

What is the price of the necklace?
Answer:

How many bags are there?
Answer:

How much is the watch?

Answer:




Answers

How much is the shirt?
Answer: The shirt is $15.

What is the price of the shoes?

Answer: The shoes are $50.

How many pairs of socks do you have?

Answer: | have 4 pairs of socks.

How much does the dress cost?

Answer: The dress costs $80.

What is the price of the jeans?

Answer: The jeans are $60.

How many T-shirts are there?
Answer: There are 10 T-shirts.

How much do the earrings cost?

Answer: The earrings cost $25.

What is the price of the necklace?

Answer: The necklace is $100.

How many bags are there?

Answer: There are 5 bags.

How much is the watch?
Answer: The watch is $120.



